Ch 13 NOTES #2 
DATE: ___________

MITOSIS
WE START AS ONE CELL:   __________________________     (egg + sperm)

Then it __________________________ into many cells

CELL DIVIDING =  ____________________________________
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          In _____________________________
          1 cell divides to make _____
          Each cell is an ________________________
          Start with 46 chromosomes – end with ______



MITOSIS STEPS

___________________ – when the cell is not dividing                                        
                                       -  DNA ___________________  happening
1. ___________________________ -  chromosomes doubled  (look like x’s)

2. ___________________________  -  line up in the Middle

3. ___________________________  - pulled Apart

4. ___________________________  - split into Two

_____________________________     -  the time that a cell spends in each phase
MITOSIS RATES
DO all cells go through mitosis at same rate?  _______
         EX:  _______________________________________________________
____________________ – mitosis slows down

                                         -  cells ________________________________________ as fast

_____________________ – mitosis speeds up of abnormal cells
THE CELL CYCLE

INTERPHASE - 

G1:  _______________________________________

S: _________________________________________  (DNA replication)

G2: ________________________________________

MITOTIC PHASE –

P: _________________________________________

M: ________________________________________

A:  ________________________________________

T: _________________________________________
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